

Linear equations of generalised triangular fuzzy numbers

RITUPARNA CHUTIA, SUPAHI MAHANTA, D. DATTA

Received 22 July 2012; Accepted 7 February 2013

ABSTRACT. A necessary and sufficient condition for the existence of solution of linear equation by Buckley [Fuzzy Sets and Systems 38, (1990), 43-59] are generalized on generalized triangular fuzzy numbers. The arithmetic of generalised fuzzy numbers is used to show the existence of solution of the linear equation with such types fuzzy numbers.

2010 AMS Classification: 03E72

Keywords: Generalised fuzzy number, Arithmetic, Linear equation.

Corresponding Author: Rituparna Chutia (Rituparnachutia7@rediffmail.com)

1. INTRODUCTION

The necessary and sufficient condition for the existence of solution of systems fuzzy equations was proposed in [17]. Work that are done on solving linear and quadratic fuzzy equations are available in [1, 2, 3, 5, 6, 7, 8, 20]. In [20] necessary and sufficient conditions for the existences of solution of $\tilde{A} + \tilde{X} = \tilde{C}$ and $\tilde{A}\tilde{X} = \tilde{C}$ when \tilde{A} and \tilde{C} are arbitrary fuzzy subsets of the real are discussed. In [6] the author argued that only simple equations can be solved using the concept of α -cuts of fuzzy numbers. A new solution method based on the concept of the united extension of a function from interval analysis [18] was proposed in [2]. Buckley [4, 5] used evolutionary algorithms and neural nets to solve linear and quadratic equations of fuzzy numbers. Certain decomposition of the coefficient matrix of the system of fully fuzzy linear equations to obtain a new method for solving these systems is proposed in [19]. A brief review of generalised fuzzy numbers with applications and there basic arithmetic are available in [9, 12, 13, 14, 15].

In this paper, the existence of solution of linear equation of non-normal or generalised triangular fuzzy number are discussed. The necessary and sufficient condition for the existence of solution are being discussed, which are put forwarded in the

form of theorem. The coefficient of the linear equations are considered generalised triangular fuzzy number.

2. PRELIMINARIES

Chen [10] proposed the concept of generalised fuzzy number. Let \tilde{A} be generalised fuzzy number such that $\tilde{A} = (a_1, a_2, a_3, a_4; w_{\tilde{A}})$ where a_1, a_2, a_3 and a_4 are real values, $a_1 < a_2 < a_3 < a_4$, $w_{\tilde{A}}$ is the height of the generalised fuzzy number and $0 \leq w_{\tilde{A}} < 1$. The generalised fuzzy number \tilde{A} is defined in a closed bounded interval and it is convex. The generalised fuzzy number reduces to normal fuzzy number if the height $w_{\tilde{A}} = 1$. Moreover the generalised fuzzy number reduces to generalised triangular fuzzy number if $a_3 = a_4$ and a triangular fuzzy number if $w_{\tilde{A}} = 1$. The support of the generalised fuzzy number is defined as the real interval $[a_1, a_4]$. The main difference between generalised fuzzy number and a fuzzy number is that the height of a fuzzy number is always 1 and the height of generalised fuzzy number lies within the interval $[0, 1]$. A generalised triangular fuzzy number $\tilde{A} = (a_1, a_2, a_3; w_{\tilde{A}}) > 0$ if $a_1 > 0$, $\tilde{A} \geq 0$ if $a_1 \leq 0$, $\tilde{A} < 0$ if $a_3 < 0$ and $\tilde{A} \leq 0$ if $a_1 \leq 0$.

Chen [11, 16] proposed the arithmetic of generalised fuzzy numbers. In this paper, only the arithmetic of generalised triangular fuzzy number are defined as they are being used. Let $\tilde{A} = (a_1, a_2, a_3; w_{\tilde{A}})$ and $\tilde{B} = (b_1, b_2, b_3; w_{\tilde{B}})$ be two generalised triangular fuzzy numbers, such that $a_1 < a_2 < a_3$ and $b_1 < b_2 < b_3$ are real values, the arithmetic of generalised real fuzzy numbers are defined as follows:

- (1) Generalised triangular fuzzy number addition.

$$\begin{aligned}\tilde{A} \oplus \tilde{B} &= (a_1, a_2, a_3; w_{\tilde{A}}) \oplus (b_1, b_2, b_3; w_{\tilde{B}}) \\ &= (a_1 + b_1, a_2 + b_2, a_3 + b_3; \min(w_{\tilde{A}}, w_{\tilde{B}}))\end{aligned}$$

- (2) Generalised triangular fuzzy number subtraction.

$$\begin{aligned}\tilde{A} \ominus \tilde{B} &= (a_1, a_2, a_3; w_{\tilde{A}}) \ominus (b_1, b_2, b_3; w_{\tilde{B}}) \\ &= (a_1 - b_3, a_2 - b_2, a_3 - b_1; \min(w_{\tilde{A}}, w_{\tilde{B}}))\end{aligned}$$

- (3) Generalised triangular fuzzy number multiplication.

$$\begin{aligned}\tilde{A} \otimes \tilde{B} &= (a_1, a_2, a_3; w_{\tilde{A}}) \otimes (b_1, b_2, b_3; w_{\tilde{B}}) \\ &= (a, a_2 \times b_2, c; \min(w_{\tilde{A}}, w_{\tilde{B}}))\end{aligned}$$

where, $a = \min(a_1 \times b_1, a_1 \times b_3, a_3 \times b_1, a_3 \times b_3)$ and

$$c = \max(a_1 \times b_1, a_1 \times b_3, a_3 \times b_1, a_3 \times b_3)$$

- (4) Generalised triangular fuzzy number division.

$$\begin{aligned}\tilde{A} \oslash \tilde{B} &= (a_1, a_2, a_3; w_{\tilde{A}}) \oslash (b_1, b_2, b_3; w_{\tilde{B}}) \\ &= (a, a_2 \div b_2, c; \min(w_{\tilde{A}}, w_{\tilde{B}}))\end{aligned}$$

where, $a = \min(a_1 \div b_1, a_1 \div b_3, a_3 \div b_1, a_3 \div b_3)$ and

$$c = \max(a_1 \div b_1, a_1 \div b_3, a_3 \div b_1, a_3 \div b_3)$$

3. MAIN RESULTS

Theorem 3.1. *The equation $\tilde{A} \oplus \tilde{X} = \tilde{C}$ has a solution $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$ if and only if $c_1 - a_1 < c_2 - a_2 < c_3 - a_3$ and $w_{\tilde{X}} = \min(w_{\tilde{C}}, w_{\tilde{A}})$, where $\tilde{A} = (a_1, a_2, a_3; w_{\tilde{A}})$ and $\tilde{C} = (c_1, c_2, c_3; w_{\tilde{C}})$ are the generalised triangular fuzzy number.*

Proof. Let us assume that the solution exist and it be $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$, where $x_1 < x_2 < x_3$. This solution satisfies the equation $\tilde{A} \oplus \tilde{X} = \tilde{C}$. Therefore,

$$(a_1, a_2, a_3; w_{\tilde{A}}) \oplus (x_1, x_2, x_3; w_{\tilde{X}}) = (c_1, c_2, c_3; w_{\tilde{C}})$$

$$a_1 + x_1 = c_1$$

$$a_2 + x_2 = c_2$$

$$a_3 + x_3 = c_3$$

$$\min(w_{\tilde{A}}, w_{\tilde{X}}) = w_{\tilde{C}}.$$

Now $x_1 < x_2 < x_3$, implies $c_1 - a_1 < c_2 - a_2 < c_3 - a_3$. Also $\min(w_{\tilde{A}}, w_{\tilde{X}}) = w_{\tilde{C}}$, implies $w_{\tilde{A}} = w_{\tilde{C}}$ or $w_{\tilde{X}} = w_{\tilde{C}}$. If $w_{\tilde{A}} = w_{\tilde{C}}$ then $w_{\tilde{A}} = w_{\tilde{C}} < w_{\tilde{X}}$ which is invalid. If $w_{\tilde{X}} = w_{\tilde{C}}$ then $w_{\tilde{X}} = w_{\tilde{C}} < w_{\tilde{A}}$, implies $\min(w_{\tilde{C}}, w_{\tilde{A}}) = w_{\tilde{X}}$.

For the sufficient condition, let $x_1 = c_1 - a_1$, $x_2 = c_2 - a_2$, and $x_3 = c_3 - a_3$. Since $x_1 < x_2 < x_3$ and $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$, $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$ is a generalised triangular fuzzy number. It is obvious that it satisfies the equation $\tilde{A} \oplus \tilde{X} = \tilde{C}$, implies that solution exist. \square

Example 3.2. Let $\tilde{A} = (2, 5, 7; 0.5)$ and $\tilde{C} = (1, 2, 3; 0.7)$, the solution exist when $1 - 2 < 2 - 5 < 3 - 7$ but it is not true hence the solution doesn't exist for the linear equation $\tilde{A} \oplus \tilde{X} = \tilde{C}$.

Example 3.3. Let $\tilde{A} = (0, 4, 6; 0.7)$ and $\tilde{C} = (0, 6, 10; 0.5)$, the solution exist for the linear equation $\tilde{A} \oplus \tilde{X} = \tilde{C}$ and it is $\tilde{X} = (0, 2, 4; 0.5)$.

Theorem 3.4. *For generalised fuzzy numbers \tilde{A} and \tilde{C} such that zero doesn't belong to the support of \tilde{A} and \tilde{C} , the linear equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$ has a solution $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$, where $\tilde{A} = (a_1, a_2, a_3; w_{\tilde{A}})$ and $\tilde{C} = (c_1, c_2, c_3; w_{\tilde{C}})$ are real valued generalised fuzzy number, if and only if*

- (1) $\frac{c_1}{a_1} < \frac{c_2}{a_2} < \frac{c_3}{a_3}$ when $\tilde{A} > 0$, $\tilde{C} \geq 0$;
- (2) $\frac{c_3}{a_3} < \frac{c_2}{a_2} < \frac{c_1}{a_1}$ when $\tilde{A} < 0$, $\tilde{C} \leq 0$;
- (3) $\frac{c_1}{a_3} < \frac{c_2}{a_2} < \frac{c_3}{a_1}$ when $\tilde{A} > 0$, $\tilde{C} \leq 0$;
- (4) $\frac{c_3}{a_1} < \frac{c_2}{a_2} < \frac{c_1}{a_3}$ when $\tilde{A} < 0$, $\tilde{C} \geq 0$;

and $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$.

Proof. (1) Let solution exist when $\tilde{A} > 0$, $\tilde{C} \geq 0$ and it is $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$, where $x_1 < x_2 < x_3$ and are real positive such that $x_1 \geq 0$. This solution satisfies the equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$. Therefore,

$$(a_1, a_2, a_3; w_{\tilde{A}}) \otimes (x_1, x_2, x_3; w_{\tilde{X}}) = (c_1, c_2, c_3; w_{\tilde{C}})$$

$$a_1 \times x_1 = c_1$$

$$a_2 \times x_2 = c_2$$

$$a_3 \times x_3 = c_3$$

$$\min(w_{\tilde{A}}, w_{\tilde{X}}) = w_{\tilde{C}}.$$

Now $x_1 < x_2 < x_3$, implies $\frac{c_1}{a_1} < \frac{c_2}{a_2} < \frac{c_3}{a_3}$. Also $\min(w_{\tilde{A}}, w_{\tilde{X}}) = w_{\tilde{C}}$, implies $w_{\tilde{A}} = w_{\tilde{C}}$ or $w_{\tilde{X}} = w_{\tilde{C}}$. If $w_{\tilde{A}} = w_{\tilde{C}}$ then $w_{\tilde{A}} = w_{\tilde{C}} < w_{\tilde{X}}$ which is invalid. If $w_{\tilde{X}} = w_{\tilde{C}}$ then $w_{\tilde{X}} = w_{\tilde{C}} < w_{\tilde{A}}$, implies $\min(w_{\tilde{C}}, w_{\tilde{A}}) = w_{\tilde{X}}$.

For the sufficient condition, let $x_1 = \frac{c_1}{a_1}$, $x_2 = \frac{c_2}{a_2}$, and $x_3 = \frac{c_3}{a_3}$. Since $x_1 < x_2 < x_3$ and $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$, $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$ is a generalised triangular fuzzy number. It is obvious that it satisfies the equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$, implies that solution exist. \square

Proof. (2) Let solution exist when $\tilde{A} < 0$, $\tilde{C} \leq 0$ and it is $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$, where $x_1 < x_2 < x_3$ and are real positive such that $x_1 \geq 0$. This solution satisfies the equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$. Therefore,

$$(a_1, a_2, a_3; w_{\tilde{A}}) \otimes (x_1, x_2, x_3; w_{\tilde{X}}) = (c_1, c_2, c_3; w_{\tilde{C}})$$

$$x_1 = \frac{c_3}{a_3}; x_2 = \frac{c_2}{a_2}; x_3 = \frac{c_1}{c_1}$$

$$\min(w_{\tilde{A}}, w_{\tilde{X}}) = w_{\tilde{C}}.$$

Now $x_1 < x_2 < x_3$, implies $\frac{c_3}{a_3} < \frac{c_2}{a_2} < \frac{c_1}{a_1}$. The proof of $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$ is similar to the proof in part (1).

For the sufficient condition, let $x_1 = \frac{c_3}{a_3}$, $x_2 = \frac{c_2}{a_2}$, and $x_3 = \frac{c_1}{a_1}$. Since $x_1 < x_2 < x_3$ and $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$, $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$ is a generalised triangular fuzzy number. It is obvious that it satisfies the equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$, implies that solution exist. \square

Proof. (3) Let solution exist when $\tilde{A} > 0$, $\tilde{C} \leq 0$ and it is $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$, where $x_1 < x_2 < x_3$ and are real negative such that $x_3 \leq 0$. This solution satisfies the equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$. Therefore,

$$(a_1, a_2, a_3; w_{\tilde{A}}) \otimes (x_1, x_2, x_3; w_{\tilde{X}}) = (c_1, c_2, c_3; w_{\tilde{C}})$$

$$x_1 = \frac{c_1}{a_3}; x_2 = \frac{c_2}{a_2}; x_3 = \frac{c_3}{c_1}$$

$$\min(w_{\tilde{A}}, w_{\tilde{X}}) = w_{\tilde{C}}.$$

Now $x_1 < x_2 < x_3$, implies $\frac{c_1}{a_3} < \frac{c_2}{a_2} < \frac{c_3}{a_1}$. The proof of $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$ is similar to the proof in part (1).

For the sufficient condition, let $x_1 = \frac{c_1}{a_3}$, $x_2 = \frac{c_2}{a_2}$, and $x_3 = \frac{c_3}{a_1}$. Since $x_1 < x_2 < x_3$ and $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$, $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$ is a generalised triangular fuzzy number. It is obvious that it satisfies the equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$, implies that solution exist. \square

Proof. (4) Let solution exist when $\tilde{A} < 0$, $\tilde{C} \geq 0$, and it is $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$, where $x_1 < x_2 < x_3$ and are real negative such that $x_3 \leq 0$. This solution satisfies the equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$. Therefore,

$$(a_1, a_2, a_3; w_{\tilde{A}}) \otimes (x_1, x_2, x_3; w_{\tilde{X}}) = (c_1, c_2, c_3; w_{\tilde{C}})$$

$$x_1 = \frac{c_3}{a_1}; x_2 = \frac{c_2}{a_2}; x_3 = \frac{c_1}{c_3}$$

$$\min(w_{\tilde{A}}, w_{\tilde{X}}) = w_{\tilde{C}}.$$

Now $x_1 < x_2 < x_3$, implies $\frac{c_3}{a_2} < \frac{c_2}{a_2} < \frac{c_1}{a_3}$. The proof of $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$ is similar to the proof in part (1).

For the sufficient condition, let $x_1 = \frac{c_3}{a_1}$, $x_2 = \frac{c_2}{a_2}$, and $x_3 = \frac{c_1}{a_3}$. Since $x_1 < x_2 < x_3$ and $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$, $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$ is a generalised triangular fuzzy number. It is obvious that it satisfies the equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$, implies that solution exist. \square

Theorem 3.5. *For generalised fuzzy numbers \tilde{A} and \tilde{C} such that zero belong to the support of \tilde{C} ($c_2 = 0$), the linear equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$ has a solution $\tilde{X} = (x_1, x_2, x_3; w_{\tilde{X}})$, where $\tilde{A} = (a_1, a_2, a_3; w_{\tilde{A}})$ and $\tilde{C} = (c_1, c_2, c_3; w_{\tilde{C}})$ are real valued generalised fuzzy number, if and only if zero belongs to the support of \tilde{X} ($x_2 = 0$) and $\min(w_{\tilde{A}}, w_{\tilde{C}}) = w_{\tilde{X}}$.*

Proof. The prove of the theorem is obvious. \square

Example 3.6. Let $\tilde{A} = (-6, -5, -4; 0.5)$ and $\tilde{C} = (-1, 0, 1; 1)$, the solution of the equation $\tilde{A} \otimes \tilde{X} = \tilde{C}$ exist and it is $\tilde{X} = (-\frac{1}{4}, 0, \frac{1}{4}; 0.5)$.

4. CONCLUSIONS

The existence of solution of linear equation of single fuzzy variable is investigated when the coefficients are generalised triangular fuzzy number. The necessary and sufficient condition for the existence of the solution of linear equations are deduced. The method of α -cuts fails if the fuzzy coefficients are of different height, so the method of arithmetic of generalised fuzzy numbers serves a good tool to shows the existence of solution of linear equations with fuzzy coefficients.

REFERENCES

- [1] T. Allahviranloo, N. Mikaeilvand and M. Barkhordary, Fuzzy linear matrix equation, Fuzzy Optim. Decis. Mak. 8(2) (2009) 165–177.
- [2] J. J. Buckley, Solving fuzzy equations, Fuzzy Sets and Systems 50 (1992) 1–14.
- [3] J. J. Buckley, Solving fuzzy equations in economics and finance, Fuzzy Sets and Systems 48 (1993) 289–296.
- [4] J. J. Buckley, E. Eslami and Y. Hayashi, Solving fuzzy equations using neural nets, Fuzzy Sets and Systems 86 (1997) 271–278.
- [5] J. J. Buckley, T. Feuring and Y. Hayashi, Solving fuzzy equations using evolutionary algorithms and neural nets, Soft Computing 6 (2002) 116–123.
- [6] J. J. Buckley and Y. Qu, On using α -cuts to evaluate fuzzy functions, Fuzzy Sets and Systems 38 (1990) 309–312.
- [7] J. J. Buckley and Y. Qu, Solving fuzzy equations: a new solution concept, Fuzzy Sets and Systems 39 (1991) 291–301.
- [8] J. J. Buckley and Y. Qu, Solving linear and quadratic fuzzy equations, Fuzzy Sets and Systems 38 (1990) 43–59.
- [9] S. M. Chen, New methods for subjective mental workload assessment and fuzzy risk analysis, Cybernetics and Systems 27(5) (1996) 449–472.
- [10] S. H. Chen, Ranking fuzzy numbers with maximizing set and minimizing set, Fuzzy Sets and Systems 17(2) (1985) 113–129.
- [11] S. H. Chen, Ranking generalized fuzzy number with graded mean integration, In Proceeding of the eighth international fuzzy systems association world congress, Taipei, Taiwan, Republic of China. 2 (1999) 899–902.

- [12] J. H. Chen and S. M. Chen, A new method for ranking generalized fuzzy numbers for handling fuzzy risk analysis problems, In Proceedings of the 9th conference on information sciences, Taiwan, Republic of China: Kaohsiung, (2006) 1196–1199.
- [13] J. H. Chen and S. M. Chen, Fuzzy risk analysis based on the ranking of generalized trapezoidal fuzzy numbers, Applied Intelligence 26(1) (2007) 1–11.
- [14] S. J. Chen and S. M. Chen, Fuzzy risk analysis based on similarity measures of generalized fuzzy numbers, IEEE Transactions on Fuzzy Systems 11(1) (2003) 45–56.
- [15] S. M. Chen and J. H. Chen, Fuzzy risk analysis based on ranking generalized fuzzy numbers with different heights and different spreads, Expert Systems with Applications 36 (2009) 6833–6842.
- [16] S. M. Chen and C. H. Wang, Fuzzy risk analysis based on ranking fuzzy numbers using α -cuts, belief features and signal/noise ratios, Expert Systems with Applications 36 (2009) 5576–5581.
- [17] S. Gottwald, On the existence of solutions of systems of fuzzy equations, Fuzzy Sets and Systems 12 (1984) 301–302.
- [18] R. E. Moore, Methods and Applications of Interval Analysis, SIAM Studies in Applied Mathematics, SIAM, Philadelphia, PA, 1979.
- [19] S. H. Nasser, E. Behmanesh and M. Sohrabi, A new method for system of fully fuzzy linear equations based on a certain decomposition of its coefficient matrix, Ann. Fuzzy Math. Inform. 6(1) (2013) 135–140.
- [20] E. Sanchez, Solutions of fuzzy equations with extended operations, Fuzzy Sets and Systems 12 (1984) 237–248.

RITUPARNA CHUTIA (Rituparnachutia7@gmail.com)

Department of Mathematics, Gauhati University, Guwahati-781014, India.

SUPAHI MAHANTA (supahi_mahanat@rediffmail.com)

Department of Statistics, Gauhati University, Guwahati-781014, India.

D. DATTA (ddatta@barc.gov.in)

Health Physics Division, Bhabha Atomic Research Centre, Mumbai-400085, India.